GZ6Y rodAL

<-6002 -3oequods gy

<-800¢ :WUeAY pY

<-,002 - SV / vV

Ipny :oeN

suononJsul Bumig




ser.nr: Q
®

A /
*******M* D

492580

218x11 L=63mm

Excisting fixings

ser.nr: Q

i i i

Excisting fixings

M12x70 (10.9)
110Nm

@n
1

218x11 L=63mm
M12x70 (10.9)
~ 110Nm Excisting fixings

9530903

© 492570/03-02-2010/1

© 492570/03-02-2010/14




© 492570/03-02-2010/13

ser.nr: Q
=

492580

Excisting fixings |

M12x70 (10.9)
110Nm
%@ .
9520092 \* N
~ 74
(

M12x70 (10.9) 218x11 L=63mm

110Nm Excisting fixings

9530903

© 492570/03-02-2010/2



(2x) M12

(2x) 218x11 L=63mm

\"/ (2x) M10

© 492570/03-02-2010/3

© 492570/03-02-2010/12



© 492570/03-02-2010/11

Couplingsclass: A50-X

g D-Value : 11,0 kN

el11 00-7020

L _ _ - -
) "E % MODIFICATION? )

© 492570/03-02-2010/4



Okm 1000km

NOTE:

* Should this installation process entail the cutting of the bumper — con-
formation MUST be obtained by the installation engineer of the custo-
mer’s acceptance prior to completion. Thule Towing Systems do not
accept responsibility for any matters arising as a result of this miscom-
munication.

All measurements are in mm!

HINWEISE:

* Die fur das Fahrzeug zugelassene Anhangelast ist den Fahrzeug Unterlagen
zu entnehmen. Bei Anderungen des Fahrzeuggewichtes muf} die hochst-
zulassige Anhangelast gegebenenfalls aus dem D-Wert nachgerechnet wer-
den.

Auskunft hierlber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

© 492570/03-02-2010/5

@ 25Nm

|[Excisting fixings|

© 492570/03-02-2010/10




>

/
%Q

.Y
N
)
)

.

AN
i
=]

Ziy)
T
A.\ | -l
SUYRL
{‘/@4\“&% 2

© 492570/03-02-2010/9

(I ,___

© 492570/03-02-2010/6



© 492570/03-02-2010/7

© 492570/03-02-2010/8






A
A

[emplate 4925 N
A5 Sportback 2009-> Only _

Place outside bumper

00t

0¢

UNDERSIDE BUMPER





 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20100201131545
       595.2756
       a5
       Blank
       419.5276
          

     Wide
     16
     Single
     164
     390
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

    
   HistoryItem_V1
   InsertBlanks
        
     Where: after last page
     Number of pages: 1
     same as current
      

        
     1
     1
     10
     405
     349
    
            
       CurrentAVDoc
          

     SameAsCur
     AtEnd
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





